Trigonometry - ANSWERS

-Exercises
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l‘2 Exercises

. 3 4 3 5 5 4
sinf ==, cos@ =-, tanf ==, cscd ==, secd ==, cotO =-
5 5 4 3 4 3
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sm9=7, cosl9=5, tan@ = /3, csch =
sing = " _ nVn?+4 cos O = 2 2Vyn?+4
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sind =-, cosf =—=, tanf = —-
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sinf = ——, cosf =—, tanf = ——
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sing = ——, cosf =——, tanf ==
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?, secd =2, cotf =

n
, tanf ==, cscH =
2

11.

15.

sinf =0, cos@ =—-1, tanf8 =0

sine, cosine, cosecant and secant are negative, tangent and cotangent are positive
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undefined
cosf = — \/?g
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tanf =2\TF
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tan @ =§
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1. 0.6000 3. —-0.9106
5, 2 7. &
2 2
9. 1 1. 1
2
13. cos67.5° 15. 82°
17. 13° 19. 6°
21. QIII and QIV 23. QI
25. QIvV 27. negative
29. negative 31. positive
33. positive 35. ?
37. 1 39, -8
2 2
41. 1 43. 60°,300°
45. 60°,120° 47. 135°,225°
49. 150°,330° 51. sina = —%
tana = —i
3
.4 Exercises
1. 52.2° 3. 68.4° 5. 60°
7. 4B =54° b =165, c ~20.4 9. A =31.0° 2B =59.0° ¢ =175
11. £A =~ 74.4° /B ~15.6° b =26 13. a=2V3, b=6V3, d=4V3, h=6
15.a=5,b=§,h=¥,s=5 17. 32V/3 cm
19. 23° 21. 700 m
23. 317m 25. 1101 km; direction of 107° (or S73°E)
27. 552 m; 447 m 29. 29.6 m 31. 237 m
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ITS Exercises

13.
17.
21.

23.
27.
31.
35.
39.

2P =139° p ~15.3cm, s =~ 22.8cm
2l =19.8° i ~88cm, 4] = 122.2°
2A = 25.6° a=10.5 4B =94°
p=19.8m, £ZR = 33.1°, £S5 = 129.9°
2A =17° «B =~ 103° ¢ =89

3. £A=259° 2£C =18.1° ¢ =193 ft
7. b=10, £C =120° c =173

11. 2X = 40.6°, y =~ 184 m, £Z = 54.4°
15. 2] = 48.5° 2] = 86.3°, £K =~ 45.2°
19. £A = 29.0°, £B =~ 46.6°, £C ~ 104.4°

No, because the ratio of sines of angles is not the same as the ratios of those angles.

. sin90° 90°
For instance, s V2 # 2 2.
128 m
~6.4m

~ 777 km; direction: ~ 279°2’
~76 m

~69°

25. 8.1 km; 11.0 km

29. ~ 351 m from A; ~ 295 from B
33. ~26°

37. ~1199 m?

41. ~663.5m?
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